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& 140,000
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Al 315,000
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Al 315,000
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01 At 2t 2l 2,320 1,120 1,200
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SN2
3

X{ XH -
S =

Mot TAOZ2 =4
Sl 2o@ne W A= CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A=9AEa BHSY 70,0008 <2511 1,540
AE A (024 9) BEAY
70,0003 x93 x4H 2,520
202 4l 28,200 28,200 0
01 = LH 4 HI 28,200 28,200 0
O A= gRF2 25,800
O AZTBN ZSUL =3 2,400
203 YR =2l 3,000 3,000 0
03 Al =AY R =& 3,000 3,000 0
O AZHFAH YRS 3,000
303 Z& = 7,500 0 7,500
01 243 7,500 0 7,500
O=g bdX™el == Z4&3  300,000& 259 7,500
405 RHoHF S HI 5,500 3,000 2,500
01 AL EZFH S 5,500 3,000 2,500
O SEL3E A 2L 5,500,000& = 1CH 5,500
SADIZ & SSAES ZHAE 22,487 27,487 A5,000
SAD2 ¥ B3AEE . 2el 22,487 27,487 A5,000
201 et 2,487 2,487 0
02 2324l 2,487 2,487 0
O LU o (Xlcld WAIZ) M3 2L 1,243
IRy 4,780 *3KW*1. 1x12& 200 & 379
MNEZ 65. 43 *500KWH* 1. 1% 128 201 & 864
O Mg2840t 3ot e &8Iz 622
=2z 4,780 *3KW+1.1x123 190
MNEZ 65. 43 «500KWH*1. 1x12& 432
O 88IC 67 8288 MIIRS 622
2z 4,780 *3KW+1. 1% 123 190
INE=3= 65. 43 *500KWH* 1. 1x12& 432
401 AIEHI L 2 CHYI 20,000 25,000 A5,000
01 A& HI 20,000 25,000 A5,000
O ZAlOI2 Hdl & 22l 10,000
O B3A&EE FH £ 2l 10,000
OIHX etd 2 Z5 A 1,340,999 1,232,133 108,866
2SN & KRA2e 1,340,999 1,232,133 108,866
gzs X € sX2el 1,092,979 960,610 132,369
201 €24 607,079 571,710 35,369
01 At 22l 1,200 1,200 0
O gtzsE+e¥ 1= 7Y 300,000& 4H 1,200
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ObN o D
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SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
23224l 605,879 570,510 35,369
O 38ds dIIRk=s 370,000
O &8s dIe=s 155,000
O EgHE &Ik 6,313
O J2s HIANMFE =2 16,720

ez 55,400 10004 2~ 5,540
dE= 11,180& 1,000 11,180
O J2E MHMHED FAHH 24l
150,000& 128 1,800
O JI28 #2208 S22 9l
300,000& =12& 3,600
O Jzs E==XY EEE S 2,446
28= 1,000,000& »2CH 2,000
A& XAl 100, 0002 »2CH 200
S$ENEREE =S 100,000& »2CH 200
Il MN=E 23,000& »2CH 46
O JIH2s MHg sX2eldl 150,000 »200H 30,000
O X& & el 20,000
II2SEXE S22l
5,000,000 =2CH 10,000
II2SEXE Jd 2 sX 2l
5,000,000 =2CH 10,000
206 T 2 bl 129,900 79,900 50,000
01 =8l 129,900 79,900 50,000
O Jlzs E=8 129,900
HsEEI 88,000 6004 52,800
SIEHE 33,000& *1,5004 49,500
LIE S & Z (150W) 20,000 =3007H 6,000
LI E & & I (250W) 23,0002 10074 2,300
UHESCeHED 28,000& 200 5,600
LHESHED 33,000& 100 3,300
Aol 1,200& *2,000m 2,400
SHEXE D 10,000& = 15074 1,500
XFEoIE A 5,000& 5004 2,500
=2=E 5,000& =400H 2,000
SHSAHIE T 40,000& 504 2,000
401 AIEHI L 2 CHYI 356,000 309,000 47,000
01 A& HI 352,706 306, 356 46,350
OsEJt2S (&0
100,000,000& *99. 1% 99,100
OZAMIIZS(LEDS) &4
50,000,000& %98.92% 49,460
Ok=Iit28 &l 60,000,000& *99. 1% 59,460
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II2SEX

= - 4 14
S HB O (SA) - NPAY - BAS e HD=2
Oftzs =+ 500,000 x140&+99. 1% 69,370
ONMEU M E2Xe)
4,000,000 *195%99. 1% 75,316
03 Al&E 201 YI 3,294 2,644 650
SsEIEs V4 100,000, 000& *0.9% 900
OZANItzS &4 50,000, 0003 *1.08% 540
OkLZ:itgs & 60,000, 000& *0.9% 540
Oltz2s &8 70,000,000 *0.9% 630
OMEU KT JIZ2S EXIZA
76,000,000& *0.9% 684
25 Xl ZE 2 (ESCO) AP Hl &fat 238,020 238,020 0
402 QI2HXH 201 A 238,020 238,020 0
02 DI2tCHEH AL B 238,020 238,020 0
O 28 Wl X & 2H(ESCO)AIZ H| Abst
19,835,000& * 128 238,020
=SHE A2 A2 10,000 6,000 4,000
401 Al HI YL 2 0HHI 10,000 6,000 4,000
01 Al& 8l 10,000 6,000 4,000
OFEHLE MAZE S22 (welcome to namwon)
6,000, 000& * 14 6,000
OFEHYE MOZ2 E2)| & & ordI| HU|
00,000& x10== 4,000
HHSAALH (A=) 4,200 6,200 A 2,000
=&t 4,200 6,200 A 2,000
Jl234l 4,200 6,200 A 2,000
203 PR =&H| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
O BASIGYRE=XHI 350,000& x12& 4,200




